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19. (b) 20. (d) 21. (a) 22. (c) 23. (b) 24. (c) 
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91. (c) ~ i:rfu ~an&> ffl ~ qf{~~ B@I~ ITTfil ~ 1 

92. (b) 

5 -- ., 5 
93. (a) - f.hf ~ M?ldi l-l = --
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5.47 X 5.47 -4.53 X 4.53 
94. (a) 0.94 

= 
(5.-nf -(4.53)2 

0.94 

(5.47 -4.53)(5.47 +4.53) 

0.94 

0.94 x 10 = 
10 

0.94 

95 . (b) , 
%. (c) ll'RT ~ ~ ~ h lft. ~ I oaf 5HHl1,~I{, 
⇒ 40 x 10 x h = 1200 

h = 1200 = 3 lft. 
⇒ 400 

97. (c) Qltril-j,BI<, 

ABCD~~~I 

04 =OC= ~ x AC. OB= OD =~ x BD . 2 . 2 
L AOB = 90° 
(AB)2 = (OLA)2 + (OB)2 

( )

2 

(} )

2 

⇒ (AB)2 = ½,AC + 2,BD 

, AC 2 BD2 

⇒ (A Bt =~+-
4
-

AC2 + BD~ = 4AB2 

98. (a) y° = 80° (~ cfilUT) 
: . . ~~$:fr~ clif ~ 180° mfil ti 

X + 50° + 80° = 180° ( .". y = 80°). 
⇒ x= 180° - 130° . :. x= 50° 

99. (c) ~ mr ~ ~ ~ ~ 
= 350 + IO = 360 lft. 

• ~,+h,,. = = 360 = 60 ~ ~ I 'Ef1JcT •. VJ'11c! '1.,'1 6 

. _ 35 x 525 = l 05 
100.(d) ar"'ffi! 1J&IT - 175 

101.(c) llRT cffi 'Um< P ~I oaf 

P x 5x 6 
51-?riljBI{, 2600-P = J 00 

P x 30 
⇒ 2600-P =--

100 
⇒ 2600 - JOP = 3P 
⇒ I3P = t 26000 

P = t 2000 

, 18 A-rl+/ 102.(d) IO lft/'ft= l Ox s = 36 lq)>jf ~ 

103. (b) 104. (a) 
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. ..Q._ ~. I 'ffaf 
>11 ti a=lb cf1flft. , b==bhq,flft , 

c = ht cm 1ft. , 
~ 3Wf('R=l. b . h -=cnr 

• • '1 '71., --:--: lft2 
= Jt2 .b2 _h2 = Jt~.bh.hl = ✓ak 

ctT~~#a=6~1ll: 106.(b) . 

625329156 =104221526 

6 ., - ~.;L 
,, ~ ~ ~ = 2, 3, ) , 7 vii~ 11 107 (c) ~ ~ - · 

· :. ~ ~ =2+3+5+7+11 = 28 

108.(c) ~ itift" t I ~ 
109.(c) ll'RT vi' ch't f-t\l'c.t, r ' · 

44 
44 ⇒ ,- ~--x 7 Q-?ril,j,BH 27rr = - 2 x 22 

:. r=7wfi. 

~ ~=n(7)2 

= 22 
X 7 X 7 = 154 itift"2 
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110. (a) llRT cffi -m§!IT lOx + u ~ 1 ~ 

Qltril,j,BI<, lOx + y + 27 = lOy + x 

⇒ 9y - 9x = 27 = 9 (y - x) = 27 
:. y- X = 3 ... (i) 
~ X + y = 7 ... (ii) 

{-l~cfi{Oj (i) ~ (ii) ~, X = 2 ~ y = 5 

.". ~ ~ =: lQ X 2 + 5 =: 25 
111. (b) 

112. Cb) -ey ~ mszrr3it cnr lf.R oo- 1 mm t, 
113. (d) 114. (a) 115. (d) 116. (d) 117. (b) 
118. (a) 

119.(a) llRT ~ cf1f clif fcrcnuf a ti 
~ 

oar, cf1f clif ~ == ~ 
. 2 
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=-,4 :;:r,-~ _ (2a)2 a 2 
9'1 '111 ,._,.,,1\'I - - == 4 -
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120. Cd) m ~ m t ftB ~ ~ ~3it cm~, ~ , 
lJU1T 3lTT "WT)~~~~~ ti 
~ - V ( 1p_.fcnoftq fyr~) 
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127. (c) 128. (d) 129. (a) 130. (a) 131. (d) 
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139. (d) 140. (a) 141. (c) 142 . (b) 143 . (a) 
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126. (b) 
132. (a) 
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144. (d) 
150. (C) • 
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